1.

Axpeta y = ax + b 9 IV ohx OHS Z
y=abx—a 9 D2 F2 F27
yl\
VAN
O x

® @
Y Z/'
ol z @) X
® @
Y Y
O x Avt
®
Y

o

o
ol



2. UAWRy=art o 2T} b 2L KB 9 o, 0 9]

3ol Wslg atolet

YA
A(1, 6)

T

\B(3, -2)




R 01701713000 Y, ©£°] 8000 Ho] L o] E°]
, O18 859 10% & &Rlste] =H. {2 +#7t
il o3} oj7leolE &ste] 28 ol st & o,
F 4 gl golH o8 20 o YFRE e Aol A

(V]
AL
ol



4. y=ax-39 TmS}H (-3, -2) 2 A 0], o] F4lo| 7] &7
Tatolat,

D
=%



742317 e
2w 5t

2e WH7F A RA o 22 A™ 429 15°CH

= OW 420 3°CH 227 "olxinal & o,
25°C Q1 HH|E 7kA7A] 9ol &9 10 & ¢ 7 25 &
T 2640] At R O] =7 (B EHY 2hE AU e 2%
ot 2= HolA| 7] grEt)

2
=
SL

@ 25°C @ 31°C @ 43°C @ 52°C ® 59°C



H0=

2]

), B(10, 0) €}

- B
o A A 7Fy = 3x 919

Iq1,
=
=

S}
=

oletx

]
™

ks
T

P =t

m o] HAAE ¢ 2 Lpebolat

ol
I
A

—
1jo

m

B(10,0) ¢




